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(cos @, sin 9)

—cosf &

(COS(ﬂ' + 9), Sil’l(ﬂ' + 9)) —=sin @

EXEY,

(cos(z — 8), sin(z —0))=(~cos @, sin )

(cos(z + 6), sin(z + 0))= (- cos &, —sin6)

(cos(~ 8), sin(-8))=(cos &, —sin )
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r(=cosa +isina)=r(cos(z — a)+isin(zr — a))
r(=cosa —isin )= r(cos(z + @)+ isin(z + @)

r(cos o —isin ar) = r(cos(~ &) + isin(- &)

v
=

cos @

(cos(— 6), sin(— 6?))
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cosd

sin @ (cos 6,sin 6)

EREDY,

cos| =+ 0 , sin Zio =(-siné, cosﬁ)
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(cos{— % + 0), sin[— % + QD = (sin 0, —cos 6)
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r(— sin @ + 1 cos a) = r(cos{z + a] +1i s1n{5 + aj]
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r(sm a —icos a) = r(cos{— > + a] +1 sm(— > + aD



